DATA SHEET varidee

Profiltechnik GmbH

bx M8x1.25
it e

1,35 515 .'II : Ly M10x15

@ O
T
. d
1‘ e

jii]
105

{"’ f— =
£
\.:d_f !
Py
&
et |~_
Ll 40
150

= s /,'-{h'oﬂlt nik GmbH
ik W
.20 80 .
120
@9
A-A

Castor adapter plate 8 M10 - 105x80 set  Reference: R-AP8-M10-105x80-SZ

Consists of:

Castor adapter plate 8 M10 - 105x80

4 Cap screws DIN 6912-M8x20 with shaft

4 Washers 13,5x9x1

4 Button-head screws ISO 7380-M10x20

4 Washers 10,5x20x2 DIN 125, shape B, M10
Material: St

Surface: galvanized

m = 2.2875 kg

The castor adapter plate 8 105x80 is suitable for securely connecting castors with a 140x110
mounting plate. The castor adapter plate acts as a link between the profile frame construction and
the castor. Suitable fixing screws for mounting the castors are included. For mounting the castor
adapter plate to the profile groove 8 separately orderable T-slot nuts 8 St M8, galvanized are
recommended.

9
IndustriestraBe 31 www.varidee.de Telefon: +49 84 63 603 63-0 \NVAri d e|ee|
91171 Greding info@varidee.de Fax: +49 84 63 603 63-11 Profiltechnik GmbH



https://varidee.de/en/t-slot-nuts-8/548-ns8-m8.html
http://www.tcpdf.org

